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@D A shop sells three types of sunglasses.

What is the difference in price between the
most expensive and least expensive sunglasses?

\ e

The shop also sells sun hats.

Ryan buys the £4.69 sunglasses and a sun hat.

w
your working.’

y get
a mark.
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@D cinema tickets cost £3.65 cach.

Hannah buys 4 tickets.

How much does Hannah pay? \ e

popcorn milkshake
£1.95 £1.25

Nico buys a box of popcomn and two milkshakes.

How much does Nico spend altogether?

\

Show
your method.

You may get
amark.
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[EJ)  Here are three supermarket

= =
= =
= =
= =
= =
S =

=
=
3
=
=
=
=
=3

TOTAL £74.68 | | TOTAL £65.90 | | TOTAL £59.05

Tom rounds each bill to the nearest £10 and then
adds them up.

Mary adds up the three bil
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@B A shop sells candies.

s
plain candles star candles stripe candles.
35p each 60p each 85p sach

Sapna buys 4 star candles and 2 stripe candes.

How much does she pay altogether?

Show

/your working

You may get
a mark

Special offer
Buy 10 candles and get 50p off.

Josh buys 10 plain candles in the specia offer.

How much does he pay for the 10 candies?

e
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@@ Viite these prices in order from smallest to largest.

‘ £0.75

N

>

smallest

largest
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These are the prices of coconuts and bananas.

bananas
£120 for 1kg

Josh buys one coconut and half a kilogram of bananas.

How much does he spend altogether?

Show
your method.
You may get
a mark

Oranges cost 25p each.

How many oranges can Josh buy for £1.507

\
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@ ose are the prices in a shoe shop.

B =5

sandals.
usﬁn £12.75 £34.99

How much more do the boots cost than the trainers?

e

Rosie buys a pair of trainers and a pair of sandals.

How much change does she get from £507

‘your method.
You may get
amark.
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Forest School sells badges for charity.

@@

For each badge sold, £1.20 s given to a charity.

How much does the charity get when 12 badges are sold?

e

I the charity got £24, how many badges were sold?

\
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@ e are three bags in ashop.

.

£11.50 £14.65 £16.50

Jamie buys bag A and bag C.

Show
your working
‘You may get
amark.
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@ A tochcosts 2765

Kate buys a torch and two batteries.

She pays £8.75 altogether.

@D

Your working.
‘You may get
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A shop sells notebooks and pens.

Hassan bought a notebook and a pen.
He paid £1.10

Kate bought a notebook and 2 pens.
She paid £1.45

\

Show
'your working.
‘You may get
amark.
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@B e ore some amounts of money.

| Cirleall the amounts that can be made with thres coins,
\

7ip  72p  73p  T4p  T5p
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17

Kate and Jamie each have some money.
Altogether they have £1.50

Kate gives Jamie 10p so that they both have the same amount.

Kate had

Jamie had
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The cost for using a minibus is £1.36 for each kilometre.

8 friends go on a 114 kilometre journey.

They share the cost equally.
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Ashop sels scarves and has.

Ben buys one of the scarves and the £4.50 hat.

How much change does he get from £207

Show
your working.

You may get
amark.

Emily buys two scarves and a hat.

What s the most she could pay?
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& /-@

w

bottle of milk cake
39p 29p

Ben buys three bottles of milk and six cakes.

How much does he spend altogether?

‘your method.
You may get
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How much more money does Emily need to make exactly £57

e

Nisha has thirty 5p coins and twenty 10p coins.

How much money does she have altogether?

\ £
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Emily, Ben and Nisha take part in a sponsored swim to
collect money for charity.

Emily collects £2.75 more than Nisha.
Ben collects £15.

Nisha collects £7 less than Ben.

Altogether how much money do the three children collect?

‘your method.

You may get
amark.
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Small peaches O Large peaches
15p each 25p each

Emily has £5 to spend on peaches.

She decides to buy only small peaches or only large peaches.

How many more small peaches than large peaches
can she buy for £5?

H

‘your method.
You may get
amark.
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@ A and Lara buy some frit.

\ f%f;{ﬁ

pineapples. peaches.
gzm £1.40 £1.99
for 1 kilogram each forabox

Amir buys 2 pineapples and a box of peaches.

How much does he pay?

Lara buys half a klogram of grapes and one pineapple.

How much change does she get from £57
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Here are five coins.

Stefan takes two coins and Lara takes the other three coins.

Stefan takes 15p more than Lara.

Tick (') the two coins Stefan takes.
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A shop sells food for birds.

Lara has £10to spend on peanuts.

How many bags of peanuts can she get for £107

\

Amir has £20

He wants to buy a bird-feeder and 4 bags of bird seed.

How much more money does he need?

Your method.
You may get
amark.
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n Write these prices in order, starting with the smallest.

72p £2.70 £0.27 £7.20 £2.07

smallest
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@ Lo sarah and Amy buy lunch at a salad bar.

salad bar

Salads Desserts.

cheese £120 | banana  25p

gy 90p | applepie  50p

tna  £160 | yogurt 35p

Liam has £2.50 to spend.

He buys a tuna salad and an apple pie.

How much money has he got left?

Sarah buys a cheese salad and a yogurt

Amy buys an egg salad.

How much more does Sarah pay than Amy?
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Big Wheel Rollercoaster
£2.50 £1.50
each ride each ride

Liam spends £14 altogether on the Big Wheel and the Rollercoaster.

He goes on the Big Wheel twice.

How many times does he go on the Rollercoaster?

Show

riing,

‘You may get
amark.
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An iced cake costs 10p more than a plain cake.
Sarah bought two of each cake.
They cost £1 altogether. ﬁ@ Z\l ﬁi [\U

What is the cost of an iced cake?

Show
your working.
You may get
amark.
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@ rese are some prices in a flower shop.

tulips roses daffodils
£1.20 for a bunch 40p each 55p for a bunch

How many roses can you buy for exactly £2?

\

Amy buys one bunch of tulips and three bunches of daffodils.

How much does she pay altogether?

Show
‘your method.

You may get
amark,
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A Afarmer has £1200 to buy apple trees and pear trees.

Apple trees cost £24.75 each
Pear trees cost £12.50 each.

He buys 35 apple trees.

How many pear trees can he buy with the money he has left?

Show

your
method

(2marks)
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Dev has five coins.

He has £1.60 altogether.

Write what the five coins could be.

\
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Dev and Joe each buy a book.
Dev pays with a £5 note and gets £1.05 change.

Joe's book costs £7

How much more does Joe’s book cost than Dev’s book?

Show
your

£ i
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o This table shows how many journeys a taxi driver made
on five days and how much money he collected.

number of money

journeys collected
Monday 23 £85
Tuesday 36 £112
Wednesday 18 £69
Thursday 31 £124
Friday 35 £109

How much money did he collect on the day that he
made the most journeys?

e
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Tickets for a school play cost £2.75 each.

Dev sold 23 tickets.

How much ticket money did Dev collect?

N

Holly collected £77 altogether from selling tickets.

How many tickets did she sell?
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5

Show
Your

Here are two plastic bags of £1 coins.

The first bag contains 20 £1 coins.

How many £1 coins does the second bag contain?

(@mark)
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These are the prices of cheese in a shop.

Cheddar cheese.
82p for 100 grams.

Edam cheese
66p for 100 grams

Cottage cheese
45p for 100 grams

Mina buys 200g of Cheddar cheese and 150g of Edam cheese.

How much does she pay altogether?

Seb buys some cottage cheese for £1.35

How many grams of cottage cheese does he get’

\
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Mina and Seb share these coins so that they each have the same
amount of money.

Mina chooses her coins first.

Seb takes the rest of the coins.

Which coins could Mina choose?

\
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a A school buys some yo-yos as prizes.

The yo-yos cost £4.25 each.

The school has £40 to spend on prizes.

They buy as many yo-yos as they can.

How much money is left?
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A box of sticky labels costs £33.50

150 sheets

There are 150 sheets of labels in the box.

There are 14 labels on each sheet.

What is the cost of one label to the nearest penny?

N

Show
your
method

Zmarks
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Megan and Chen are washing cars.
Megan gets £39 and Chen gets £55

They share what they get equally between them.

How much does each of them get?

Show
your
working
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@ - tevle shows the cost of a new footbal kit

Item Cost
Shirt £8.75
Shorts (1 pair) £5.95
Socks (1 pair) £4.15

Altogether, how much does the complete football kit cost?

N\
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@D Here are some sentences about an amount of money.

Mark each sentence with a tick {v/) if it is correct.
Put a cross (x) if it is not correct.

One has been done for you.

£1.03 can be made with exactly 1 coin. X

\ £1.03 can be made with exactly 2 coins.

£1.03 can be made with exactly 3 coins.

£1.03 can be made with exactly 4 coins.
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Alfie buys two books, each at the same price.

He pays with a £10 note and gets £2.30 change.

What is the cost of one book?

Show
your
working
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Each of these bags contains £1.60

Each bag contains only one type of coin.

Complete this table to show how many coins are in
each bag.

One has been done for you.

N[ Typeofcoin | Number of coins
1p 160
10p
20p





image47.png
Books are 25p each at a car boot sale.
Alfie wants to buy 12 books.

He only has £2.35

How much more money does Alfie need?

\

Show

your
method
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A shop sels jars of honey and honey dippers.

honey dipper

Chen bought three jars of honey and a dipper.
The total cost was £5.40

‘The dipper cost 75p.

How much did each jar of honey cost?

Show

your
method
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@I < cost o hire a boat on alake is worked out using the

information below.
Costto hire a boat: I\ goar
£4.50 per boat HIRE
and then
£3.50 per hour
(@ Four friends hire a boat for five hours.
They share the cost equally.
How much does each person pay?
A
Show
your
method
£

(®)

Chen's family hires a boat and pays a total of £15

How many hours did they have the boat for?

hours.
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@B o ouys two apples.

He pays with a £1 coin and gets 64p change.

How much does one apple cost?

Show
your
working
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Chen and Megan each buy a sandwich.
Chen gets 5p change from £2

Megan gets £2.25 change from £5

How much more does Megan pay than Chen?

Show
your
working
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@B  eoan has 7 coins that make one pound.

The coins are of only two different kinds.

What are the 7 coins?

\
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(2) 1 kilogram of grapes costs £5.80 Orapes
25.80/kg

Megan buys 700 grams of grapes. T

How much does she pay?

(6) 1 kilogram of cheese costs £13.50 E !

Megan buys a piece of cheese costing £2.49 C

Whatis the mass of the cheese o the nearest 100 grams?
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@ 4 srop seis paisof socks.

knee socks anke socks trainer socks.

1pairfor2s45  3pairsfor£750 5 pairs for £8.50

Kirsty buys 1 pair of knee socks and 3 pairs of ankle socks.

‘She pays with a £20 note.

How much change does she get?

Amy spends £25.50 on trainer socks.

How many pairs of trainer socks doss she get?

\ pars
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Liam has five coins.

Three of the coins add up to 30p.
Three of the coins add up to 40p.

Al five coins add up to £1

What are the coins that Liam has?

N\ P P P
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Ashop sells fruit.

Chen buys 2 apples and 3 bananas.

T o e

Megan buys 2 apples and 1 banana.

T ee =)

How much does one banana cost?

Show
your
working
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30 children are going on a trip.
It costs £5 including lunch.

Some children take their own packed lunch.

They pay only £3
The 30 children pay a total of £110

How many children are taking their own packed lunch?

children
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‘These are some prices in  fish and chip shop.

Fish €230 | Peas asp
Sausage £1.80 | Currysauce a0p
Chips (small bag)  60p | Bread roll aop
Chips (lrgebag)  90p | Pickled onion 28p

Alfie buys one fish, a large bag of chips and a pickled onion.

How much does he pay?

Megan buys a sausage and a bread roll.

Ghen buys a small bag of chips and a curry sauce.

How much more does Megan pay than Chen?

Show
your
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Ly |,

S0sticks
cost £6.25

100 apples.
cost £22.50

Children buy just enough sticks, sugar and apples to make

100 toffee apples.
‘They sl all 100 toffee apples for £1 each.

“The profit goes to charity.

Work out how much money goes to charity.
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Show
your

Maria bakes cakes and sells them in bags.

‘She uses this formula to work out
how much to charge for one bag of cakes.

Cost = number of cakes x 20p + 15p for the bag

How much will 2 bag of 12 cakes cost?

Olivia buys a bag of cakes for £5.15.

Use the formula to calculate how many cakes are in the bag.
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your
method

Large pizzas cost £8.50 each.
Small pizzas cost £6.75 each.
Five children together buy one large pizza and three small pizzas.

They share the cost equally.

How much does each child pay?





image61.png
A school plans to collect £200 between January and May.

This chart shows how much they collected by the end of April.

Target
£200
Jan  Feb Mar Apr

| .

0 20 40 60 80 100 120 140 160 180 200
Amount of money collected in £

Write the name of each month where they collected more than £50

How much money did they collect in February and March altogether?
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e The mass of a 10p coin is 6.5g.

The mass of a 5p coin s half the mass of a 10p coin.

What is the mass of these six coins altogether?

your
method
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Miss Mills is making jam to sell at the school fair.
Strawberries cost £7.50 per kg.
Sugar costs 79p per kg.
10 glass jars cost £6.90

She uses 12kg of strawberries and 10kg of sugar to
make 20 jars full of jam.

Calculate the total cost to make 20 jars full of jam.

your
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your
method

Olivia buys three packets of nuts.

She pays with a £2 coin.

This is her change.
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your
method

Lara had some money.
She spent £1.25 on a drink.
She spent £1.60 on a sandwich.

She has three-quarters of her money left.

How much money did Lara have to start with?
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@D  hese are the prices in a fish and chip shop.

Fish.._...................£1.95

Chips  small bag.......55p

large bag........70p

Peas.........................38p

Luke has £3

He wants to buy one fish, peas and
two large bags of chips.

How much more money does he need?

Sho

w

your method.

You may get
amark.
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[E) Aty and Jack buy some stickers.

Pack of 12 stickers 12 stickers.
£10.49 99p each

Ally buys a pack of 12 stickers for £10.49

Jack buys 12 single stickers for 99p each.
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your
method

Amina posts three large letters.
The postage costs the same for each letter.
She pays with a £20 note.

Her change is £14.96

What is the cost of posting one letter?
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A group of friends earns £80 by washing cars.
They share the money equally.
They get £16 each.
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@ e onidren at Famnfield Schoo are collecting money for charty.
Their target is to collect £360

So far they have collected £57.73
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One mango costs £1.35

How much does one pineapple cost?

your

method
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Last year, Jacob went to four concerts.

Three of his tickets cost £5 each.

The other ticket cost £7

VCERTT
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Amina s shopping.
She says,

1 would like to buy one-quarter
of a kilogram of cheese.

The cheese costs £1.35

Amina pays with a £2 coin.
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The original price of this car is £8,999

Sale
£1,100 off
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your
method

John buys one toy car and one pack of stickers.

He pays with a £10 note.
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Show
your

G a=

potatoes carrots
£1.50 per kg £1.80 per kg

Jad(buys1%kgolpo|atoesand%kgolmnms.

[ ]
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Cheddar cheese costs £7.50 for 1kg.

Marie buys 200 grams of cheddar cheese.

How much does she pay?

Cream cheese costs £3.60 for Tkg.

Robbie buys a pot of cream cheese
for 90p.

How many grams of cream cheese does he buy?

Show
‘your method.
You may get
a mark.
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These are the prices of sandwiches, drinks and fruit.

Sandwiches Drinks Fruit

cheese £1.45 milk  55p apple  15p
tuna  £1.70 cola  45p pear  20p
salad  £1.20 juice  65p melon 25p

Shereen buys a tuna sandwich, milk and a pear.

How much does she pay?

Mike has 80p to spend on a fruit and a drink.

What two things can he buy for exactly 80p?

\

and




